H.S. Ist Year Unit Test, 2022
Subject : Physics (Theory)

Total Marks : 50 . Time : 2 Hours
1. Answer (any six) from the following questions. 1x6=16
wets frat Rie w2t 2iia Sed fori |
(a) Write the SI unit of work.
SIS a2 R G ol |
(b) Write the dimention formula of force.
JeT9 Wial 3acs] o |
(c) Whatdo you mean by co-efficient of linear expansion of solid?
3f3q w1 (@R T=ARER sk a2
(d) Define specific heat of a substance.
TF <BI] SACARFS ©I2F 7 1471 |
(€) Whatis mean by latent heat of fusion?
sieTIR e i Jfettet 6 3wt 2
(f) Write the dimension formula of Impulse.
e 4o i@l 3acs! fordl |
(g) Define power.
=Fel] e e |
(h) Whatis conservative force?
eI 9 2
2. Answer (any seven) from the following questions. 2x7 =14
wer fudl REPIE! 0! 2i4ie Oed el |
(a) Whatis the difference between speed and velocity?
&l S (0F Wed AL forl
(b) Can a quantity have unit but no dimension? If so, give example.
G AP S Mial 724! A A A 2 2f ez Swiee fra |
(c) Whatare scalar and vector quantities ? Give example.

IR % (933 A 5 2 Szt i



(d) Distinguish between elastic and inelastic collision.

RS wiE SRfozI#i FRareq Aers F 1w iz o
(e) What is the difference between fundamental quantitiesand ~ derived
quantities?

crifere i e (qfsies A<l e A2y for |

(f) Establish a relation between linear acceleration and angular
acceleration.

ARF T3¢ I (FNE G399 NS 79F B2 341 |
(g) f A=3%+47 -5k and B =57 +45+3%, then find A.B?

i A =342 +47 -5k w1 B =59 +45+3% (o3 A.B
IGEREST
(h) State Newton's first law of motion.

7857 212w st fer |

(1) Ifco-efficient of linear expansion of Brass is 1.9 x10-° °C then
what is the value of co-efficient of volume exapnsion.
Tf foroem (RE 2iiRd @dlid 1.9 x10° °C' 28 (90T 2]
S 2R @i fFae 2

3. Answer (any five) fromt the following questions. 3x5 =15
were fral ATl 50! 2w Bes fral |
(a) Find the relation between torque applied on a body and angular
momentum due to it.
3F GOIF S2[FS ATl 91 TP WIF 2AF @ @[ FAw
IR AGS 77 o7 711 |

(b) What is linear momentum? State the law of conservation of linear
momentum.

&ART S33s! [ 2 talRe oI SR Fife S 41|
(c) The CGS unit of acceleratiion due to gravity 'g' is 980cms2.
Convert the C.G.S unit into SI unit to find value of'g'.
CGS “afos Mgeias gad wizfie g =980cms? | 42 CGS LRI
SI A&fore] TR R 'g' I W Sfered |



(d) Find the cross product of two vectors A = 3% - 47 + 5%k and
B =24 +7-3%.
7o 53R aR A =37-47 +5k =% B =29 +7-3%. 3@% 7=
Sferedl |
(e) The displacement of a body is given by 7 = (3t+2t* +5)m. Find (i)
velocity (ii) Acceleration.
@51 99 779l Tl T2z = (Gt+20 +5)m (i) st &1 (i) § 3¢ fefa
<4l
(f) Define the coefficient of real expansion and the co-efficient of
apparent expansion of a liquid. How they are related?
AP AT BANE A% A 21 (1539 @) 2l | 519 Mers
=i 52
(g) Acaris moving from rest. After 10sec. its wheel rotates 360times
in Imin. If radius of the wheel is 50cm. then find (i) Angular
acceleration and (1) Angular velocity.
21 S #a Tal 91 91T 99 bR So (ST e ofS
it wvo w4t Y1 AW bR I o (= 2 (ST (i)
(I 3t el 41 W1 (i ) o (R4 “Tge @Fifaw @5 fem
411
. Answer (any three) from the following questions. 5x3=15
wets fudll feeict fofo1 2riq S fuatt |
(a) Deduce the relation between ¢ and B » where  is the co-efficient
of linear expansion and g is the co-efficient of surface expansion of
solid.
A uiE B 3 TS F=o4F Bfersal, T A T (fd 2
QT SIF B e 7P PR @l |
(b) State and prove work - Energy Theorem.
=& 37a Sz IR e 341 |
(c) State Newton's second law of motion and deduce the relation
F=ma.

851 fas1a 37ach! feil S F = ma @cs! s 1 |
PTO



(d) Deduce the relation, T=1 7 /4 usingdimensional analysis; where
T — Time period, 1 is length and g is acceleration due to gravity.
A e Aafora, T =5 /7 SHIREE! oot
91 T T e »f7 1, | 251 00 oHie ‘g’ e Tgiandel
994 |
(e) Adkg ball moving at a speed of Sm/s strikes a 2 kg ball at rest.

Calculate the velocities of the two balls after collision, assuming
the collision to be elastic.

4kg S I «BI3 Sm/s (IO T3l 77 431 2 kg 9« I iR
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